 EQ 9c\s\up8(2)d\s\up8(2)-6c\s\up8(2)d-36cd\s\up8(3)+24cd\s\up8(2) =
Выносим общий множитель.

= EQ  3\b(3c\s\up8(2)d\s\up8(2)-2c\s\up8(2)d-12cd\s\up8(3)+8cd\s\up8(2)) =

Выносим общий множитель.

= EQ  3\b(\b(cd)\b(3cd-2c-12d\s\up8(2)+8d)) =

Раскрываем скобки.

= EQ  3\b(cd)\b(3cd-2c-12d\s\up8(2)+8d) =

= EQ  3\b(cd)\b(\b(3d-2)c+\b(-12d\s\up8(2)+8d)) =

Выносим общий множитель.

= EQ  3\b(cd)\b(\b(3d-2)1c+\b(3d-2)\b(-4d)) =

Выносим общий множитель.

= EQ  3\b(cd)\b(\b(3d-2)\b(1c+\b(-4d))) =

= EQ  3\b(cd)\b(\b(3d-2)\b(c+\b(-4d))) =

= EQ  3\b(cd)\b(\b(3d-2)\b(c-4d)) =

Раскрываем скобки.

= EQ  3\b(cd)\b(3d-2)\b(c-4d) 
